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SEBAM| 2K ha ha ha ha ha|
R4 B4 394 20 42| 55,100] 33,794| 21,985 11,791 18| 61.3%
23R s 15 0 6 1,777 454 405 49 0] 25.6%
— it s 25 2 4 4,962 3,052 1,738/ 1,314 0|61.5%
SEEp e 37 4 6 5,921 4,060 3,591 461 8| 68.6%
5125 Mirisg 51 1 10 7,794 3,686 2,239 1,438 9/47.3%
75 = Sajithisg 83 2 7 8,845 6,768 5,662 1,106 0| 76.5%
i)l E =R 10 6 1 4,295 4,200 3,000/ 1,200 0] 97.8%
22 73 sk 75 2 1 5,004 2,550 2,243 308 0/ 51.0%
SRR K s 30 0 3 2,326 553 455 97 1| 23.8%
B = Smitisg 68 3 4/ 14,176 8,471 2,653| 5,818 0| 59.8%
R3 407 21 44| 55,100 34,015 22,149| 11,848 18| 61.7%
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R4 R3 ISR (R4-R3)
%;gfiy S 55| S5 %;gf; > 55| > 5 %;ﬁf;& S 58] S BIE:
SEENA | SEEE SEENA | EEE SEBNE | EBh
R4 B4IE 394 8 20 407 3 21| A 13 5| A1
2B s 15 0 0 17 0 of A2 0 0
— e g} 25 0 2 27 0 2| A2 0 0
sEbithis; 37 0 4 41 1 4 A4l A1 0
5125 s 51 1 1 50 1 1 1 0 0
75 = A his; 83 5 2 83 0 2 0 5 0
PRI = i 10 0 6 10 0 6 0 0 0
= RN 75 0 2 77 0 2l A2 0 0
A ST 30 0 0 33 0 of A3 0 0
B = sATithisg 68 2 3 69 1 4 A1 1 A1
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TR ENFERRER SEENTHEIATER HytHmE*&E ha
R4 327 41 27,834
R3 341 43 28,318
&R R4—R3 A 14 A2 A 484

his DRZFan{LDTZHDEHE)

RASYIEI S BF =

SEENFHIRER R ENTHETATER Hy#EME1E ha
R4 216 32 23,240
R3 220 34 23,373
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